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Stage 3

p.15 | print('Hello world!")

p.16 | 123 + 456
123 * 456

p.16 | for x in range(10):
print('Hi!")

p.18 | for x in range (5):

print('Nice!")

p.19 | print('Hello Sora!"')

Stage 4

p.20 import turtle
~21 | turtle.shape('turtle')
turtle.color('red")
for x in range(18):
turtle.circle(100)
turtle.left(20)

p.23 | month = {1:'January', 2:'February', 3:'March'}
month[3]
month[1]

p.24 import turtle
turtle.shape('turtle')
turtle.color('green')
for x in range(18):
turtle.circle(80)
turtle.left(24)

p.25 |stars = {'"ABE':'Sun', 'XK&':'Mercury', '&£':'Venus'}
stars['XfB']




Stage 5

p.29 | 12345 + 67890
2 - 0.34

10 * 20

6 +9 % 7

(6 +9) %7
100 / 5

p.30 | 100 // 3
100 % 3

p.31 5 %% 10
3 %% 4
4L *x%x 3

p.32 |64 xx (1/2)

p.32 |4 % 7.5 /2
(300 + 200) * 7
123 % 7

8 *x 3

841 xx (1/2)

p.33 1260 * (1 + 0.25 * (8-1))




Stage 6

p.34 10

+ a

20
b +b

~36

a
a
p.35 b
b
b

p.37 | hankeil = 5
pi = 3.14
hankeli **x 2 * pi
hankei = 8

hankei *x 2 * pi

p.38 = 10
= 20
+ b
= 30
b

=b*b

= 15

= 3.14
*%x 2 % d
10

20

30
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a*b

p.39
hankei = 6371
hankei *%* 3 % pi *x 4 / 3
hankei = 1737
hankei *%* 3 * pi *x 4 / 3




Stage 7

p.42 |def add2(a, b):
return a + b
add2(123, 456)

p.43 |def add3(a, b, c):
return a + b + ¢
add3(123, 456, 789)

p.43 | def square(a):
~44 return a *x 2

square(10)

p.44 | def triangle(a, b):
return a x b / 2
triangle(28, 10)

p.44 | def amari(a, b):
return a % b
amari(100, 3)

p.45 |def height(a):

return a *x 2 * 9.8 / 2
height(11.375)
height(27.76)




Stage 9

p.58 import turtle

~61 | turtle.circle(100)
turtle.clear()
t = turtle.Pen()
t.shape('turtle')
t.speed(1)
t.forward(100)
t.right(90)
t.backward(100)
t.left(90)

p.63 import turtle
t = turtle.Pen()
t.shape('turtle')
t.forward(100)
t.left(90)
t.forward(100)
t.left(90)
t.forward(100)
t.right(90)
t.forward(100)
t.right(90)
t.forward(100)

Stage 12

p.83 a ==0
while a <= 5:
print(a)

a +=1

p.84 a = 30

while a >= 1:
print(a)
a -= 5




Stage 13

p.97 | type(100)
type(12.345)
type(1l + 2)
type(1/3)

p.97 | type('Hello'")
type('ChICBIE")
type('123")

p.99 | moji="abcdefghijklmn'
mojil[1]

moji[-1]

moji[2:6]

mojil[3:]

moji[:5]

len(moji)

p.100 | '12' + '34'
"Pr' x 3

p.100 |77 + 777
77 + 777"
"BL' * 2

a = "PhA’
al1:]

'#' + all:]

p.101 | x = 'Supercalifragilisticexpialidocious’
len(x)

p.101 |a = 'B5BpSL'
al[1:5]




Stage 14

p.102 | number=['one', 'two', 'three', 'four', 'five']
~103 | number[4]
len(number)
number.sort()
number
p.103 |num = [3, 4, 5, 1, 2]
num.sort()
num
num.reverse()
num
p.104 |drink = ['S)IF4—', 'ATISF', 'LER—R']
~106 | drink.pop()
drink
drink.pop(0)
drink
drink.insert(Q, "#I%"')
drink.insert(1, '9EFHIWNIFTFa—")
drink
drink.append('v>d—-Svy—")
drink
len(drink)
p.106 |price = {'#I%': 200,
~107 '"IEFAZIVIT4—": 400,

'h7x>7': 300,

'YvI-Swvy—"': 450}
price['9EFAIIWNIFT4—"]
price['ArORNU—TSRF—/"'] = 500
price

p.108 | fruits = ['strawberry', 'banana', 'orange', 'melon', 'apple']

fruits.sort()
fruits
fruits[0]="blueberry'

fruits




p.108 | len(fruits)
OfiE | test = {'#P': 95, 'HE': 90, 'HR': 82}
test['#=']
test[ 'H#']
p.109 | kinoko = ['JW&4s', '£S95", 'Jyvalb—L', Y497, 'FTO']

kinoko.pop()
kinoko.append('T/#545")
MEREICT, kinokoEAANUTIVY—F—ZHEE. UXMRRINFETD,




Stage

15

p.110

abC: [|a|' 'bl, ICI]
type(abc)
num = {1:'one', 2:'two', 3:'three'}

type(num)

p.111

type(100 > 1)
type(100 < 1)
type('TOTEFENWLE")

p.112

100 > 1
100 < 1

p.113

= 10
==5
=5

p.114

< 10 and 10 > 100
< 10 or 10 > 100
not 10 > 100

a
a
a
1 < 10 and 10 < 100
1
1

p.115

tako = 8

ika = 10

tako > 1ika
kumo = 8

kumo <= tako
type(1 / 3)
type([1 / 31)
type(1 > 3)

p.115

MOIESRAIR. Ffeld. 13 ESIUTOEMEAND EtrueMRRENE T, B, &
DOBIZEFH LTS,

age = 3

not((age >= 6 and age <= 12) or age >= 60)

age = 25

not((age >= 6 and age <= 12) or age >= 60)
KZDMDOBHZEAND L. falseNMRRINEFT, FIZEE, ROFIZH LTI REL,
age = 12

not((age >= 6 and age <= 12) or age >= 60)




Stage 16

p.117 | import random

number = random.randint(1, 10)

if number % 7 == 0:
print('SwvF—71&")

else:

print(number)

p.118 | import random

number = random.randint(1, 100)

if number % 7 == @ and number % 11 ==
print('#B>vF—1 77K ")

elif number % 7 == 0:
print('Sw¥F—1 70OEHEKL! ")

elif number % 11 ==
print('Swv+—1 110EHEL! ")

else:

print(number)




Stage 17

p.124

name = input('HRBROBLREIE? @ ")
print('CAICBIF. ' + name + 'EA')

p.129

print('1234567890¥%
1234567890¥%
1234567890")

p.130

print('''1234567890
1234567890
1234567890"'"' ")




Stage 18

p.132

number = input('237TzOHFEAHLTLLREEL: ")

number
type(number)

num = int(number)
num

type(num)

p.133

number = 0
while True:
print(number)

number += 1

p.135

number = 0
while True:
if number >= 5:
break
print(number)

number += 1

p.137

number = 1
while True:
if number >= 8:
break
if number ==
print('212&")
number += 1
continue
print(number)

number += 1

p.138

X = input('13OBFEEAHLTLRESL

X
type(x)
y = int(x)

y

)




Stage 19

p.146

abs(10)
abs(-20)
abs(20 - 5)
abs(5 - 20)

p.133

number = 0
while True:
print(number)

number += 1

p.135

number = 0
while True:
if number >= 5:
break
print(number)

number += 1

p.137

number = 1
while True:
if number >= 8:
break
if number ==
print('272&")
number += 1
continue
print(number)

number += 1

p.138

X = input('13OBFEEAHLTLRESL

X
type(x)
y = int(x)

y

)




